Projekt: Hala w Pi |awie G <rnej 2015 /07/31
Rysunek: ELEMENTY: KT1A-KT3C, ST1A-ST2C Nr rys. K-18
WYKAZ STAL I str. 1
Poz. |l Profil Déugoya |Materiaé | Masa Masa Uwagi
Pow. 1 szt.
KT ELEMENT KT1A 1A
2 8 |BI 3x60-130 0.008 S235 0.19 15
1 4 |BI 10x140-250 0.035 S235 2.75 11.0
5 2 |RK 80x80x5 3.821 S355 41.80 83.6
102 | 8 |[Podkladka 17 Fe/Zn wg PN 0.01 0.1 PN-78/M-82005
101 | 8 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.2 PN-86/M-82144
100 | 8 [Sruba M16x70-8.8-B-Fe/zn wg PN 0.14 11 PN-85/M-82101
4 3 |RK 80x80x5 2.310 S355 25.27 75.8
3 2 |RK 120x120x6 6.750 S355 137.25 274.5
Masa elementu [kg] 447.8
dla 1lszt. [ka] 4|44788 |
KT ELEMENT KT1B iB | |
3 1 [RK 120x120x6 6.750 S355 137.20 137.2
4 3 |RK 80x80x5 2.310 S355 25.27 75.8
2 8 |BI 3x60-130 0.008 S235 0.19 15
1 4 |BI 10x140-250 0.035 S235 2.75 11.0
102 | 8 |[Podkladka 17 Fe/Zn wg PN 0.01 0.1 PN-78/M-82005
101 | 8 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.2 PN-86/M-82144
100 | 8 [Sruba M16x70-8.8-B-Fe/zn wg PN 0.14 11 PN-85/M-82101
11 | 2 |RK 80x80x5 3.739 S355 40.90 81.8
10 | 1 |RK 120x120x6 6.550 S355 133.20 133.2
Masa elementu [kg] 441.9
dla 2|szt. [kg] 8|88338 |
KT ELEMENT KT1C iC | |
1 2 | Bl 10x140-250 0.035 S235 2.75 55
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
17 | 1 |RK 80x80x5 3.940 S355 43.10 43.1
4 2 |RK 80x80x5 2.310 S355 25.25 50.5
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.1 PN-86/M-82144
100 | 4 |[Sruba M16x70-8.8-B-Fe/zn wg PN 0.13 0.5 PN-85/M-82101
200 | 2 |HST M16/25 HILTI
23 | 1 |BI3x130-130 0.017 S235 0.40 0.4
22 | 1 |BI12x140-270 0.038 S235 3.60 3.6
14 | 1 |RK 120x120x6 6.993 S355 142.20 142.2
16 1 |RK 80x80x5 4,130 S355 45.20 45.2
15 | 1 |RK 120x120x6 4.025 S355 81.80 81.8
Masa elementu [kg] 373.6
dla 2|szt. [kg] 7?422 |
KT ELEMENT KT2A éA | |
2 8 |BI 3x60-130 0.008 S235 0.19 15
1 4 |BI 10x140-250 0.035 S235 2.75 11.0
102 | 8 [Podkladka 17 Fe/Zn wg PN 0.01 0.1 PN-78/M-82005
101 | 8 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.2 PN-86/M-82144




Projekt: Hala w Pi |awie G <rnej 2015 /07/31
Rysunek: ELEMENTY: KT1A-KT3C, ST1A-ST2C Nr rys. K-18
WYKAZ STAL I str. 2
Poz. |l Profil Déugoya |Materiaé | Masa Masa Uwagi
Pow. 1 szt.
3 2 |RK 120x120x6 6.750 S355 137.25 274.5
7 2 |RK 80x80x5 3.500 S355 38.30 76.6
103 | 8 [Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 1.0 PN-85/M-82101
6 3 |RK 80x80x5 1.730 S355 18.93 56.8
Masa elementu [kg] 421.7
dla 2|szt. [kg] 8|83344
KT ELEMENT KT2B 2|B |
10 | 1 |RK 120x120x6 6.550 S355 133.20 133.2
6 3 |RK 80x80x5 1.730 S355 18.93 56.8
102 | 8 |[Podkladka 17 Fe/Zn wg PN 0.01 0.1 PN-78/M-82005
101 | 8 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.2 PN-86/M-82144
103 | 8 [Sruba M16x60-8.8-B-Fe/zn wg PN 0.13 1.0 PN-85/M-82101
2 8 |BI 3x60-130 0.008 S235 0.19 15
1 4 |BI 10x140-250 0.035 S235 2.75 11.0
3 1 [RK 120x120x6 6.750 S355 137.20 137.2
12 | 2 |RK 80x80x5 3.411 S355 37.30 74.6
Masa elementu [kg] 415.6
dla 4|szt. [ka] 16?6821.4
KT ELEMENT KT2C éC |
1 2 | Bl 10x140-250 0.035 S235 2.75 55
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
15 | 1 |RK 120x120x6 4.025 S355 81.80 81.8
14 | 1 |RK 120x120x6 6.993 S355 142.20 142.2
23 | 1 |BI3x130-130 0.017 S235 0.40 0.4
22 | 1 |BI12x140-270 0.038 S235 3.60 3.6
200 | 2 |HST M16/25 HILTI
19 | 1 |RK 80x80x5 3.631 S355 39.70 39.7
6 2 |RK 80x80x5 1.730 S355 18.95 37.9
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/zZn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
18 | 1 |RK 80x80x5 3.825 S355 41.80 41.8
Masa elementu [kg] 354.2
dla 4|szt. [kq] 14IL4HSEB8
KT ELEMENT KT3A éA |
102 | 8 |[Podkladka 17 Fe/Zn wg PN 0.01 0.1 PN-78/M-82005
101 | 8 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.2 PN-86/M-82144
103 | 8 [Sruba M16x60-8.8-B-Fe/zn wg PN 0.13 1.0 PN-85/M-82101
2 8 |BI 3x60-130 0.008 S235 0.19 15
1 4 |BI 10x140-250 0.035 S235 2.75 11.0
3 2 |RK 120x120x6 6.750 S355 137.25 274.5
9 2 |RK 80x80x5 3.260 S355 35.65 71.3
8 3 |RK 80x80x5 1.170 S355 12.80 38.4
Masa elementu [kg] 398.0
dla 2 szt. [kg] 798600




Projekt: Hala w Pi |awie G <rnej 2015 /07/31
Rysunek: ELEMENTY: KT1A-KT3C, ST1A-ST2C Nr rys. K-18
WYKAZ STAL I str. 3
Poz. |l Profil Déugoya |Materiaé | Masa Masa Uwagi
Pow. 1 szt.
KT ELEMENT KT3B 3B
10 | 1 |RK 120x120x6 6.550 S355 133.20 133.2
8 3 |RK 80x80x5 1.170 S355 12.80 38.4
102 | 8 |[Podkladka 17 Fe/Zn wg PN 0.01 0.1 PN-78/M-82005
101 | 8 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.2 PN-86/M-82144
103 | 8 [Sruba M16x60-8.8-B-Fe/zn wg PN 0.13 1.0 PN-85/M-82101
2 8 |BI 3x60-130 0.008 S235 0.19 15
1 4 |BI 10x140-250 0.035 S235 2.75 11.0
3 1 [RK 120x120x6 6.750 S355 137.20 137.2
13 | 2 |RK 80x80x5 3.165 S355 34.65 69.3
Masa elementu [kg] 391.9
dla 4|szt. [ka] 15i66766
KT ELEMENT KT3C éC |
1 2 | Bl 10x140-250 0.035 S235 2.75 55
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
15 | 1 |RK 120x120x6 4.025 S355 81.80 81.8
14 | 1 |RK 120x120x6 6.993 S355 142.20 142.2
23 | 1 |BI3x130-130 0.017 S235 0.40 0.4
22 | 1 |BI12x140-270 0.038 S235 3.60 3.6
200 | 2 |HST M16/25 HILTI
21 | 1 |RK 80x80x5 3.396 S355 37.20 37.2
6 2 |RK 80x80x5 1.730 S355 18.95 37.9
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/zZn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
20 | 1 |RK 80x80x5 3.582 S355 39.20 39.2
Masa elementu [kg] 349.1
dla 4|szt. [kq] 1:?99644
ST ELEMENT ST1A iA |
3 1 [RK 120x120x6 6.750 S355 137.20 137.2
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
1 2 | Bl 10x140-250 0.035 S235 2.75 55
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/zZn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
Masa elementu [kg] 144.0
dla 6 szt. [kg] 88840
| |
ST ELEMENT ST1B iB |
10 | 1 |RK 120x120x6 6.550 S355 133.20 133.2
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
1 2 | Bl 10x140-250 0.035 S235 2.75 55
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.1 PN-86/M-82144




Projekt: Hala w Pi |awie G <rnej 2015 /07/31
Rysunek: ELEMENTY: KT1A-KT3C, ST1A-ST2C Nr rys. K-18
WYKAZ STAL I str. 4
Poz. |l Profil Déugoya |Materiaé | Masa Masa Uwagi
Pow. 1 szt.
103 | 4 |Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
Masa elementu [kg] 140.0
dla 12 szt. [kg] 1GEEDO
| |
ST ELEMENT ST1C 1C |
22 | 1 |BI12x140-270 0.038 S235 3.60 3.6
200 | 2 |HST M16/25 HILTI
14 | 1 |RK 120x120x6 6.993 S355 142.20 142.2
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
1 2 | Bl 10x140-250 0.035 S235 2.75 55
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |[Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
Masa elementu [kg] 152.6
dla 12I szt. [kg] ]]IEBB]lz
ST ELEMENT ST2A éA |
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
1 2 | Bl 10x140-250 0.035 S235 2.75 55
24 | 1 |RK 120x120x6 7.100 S355 144.30 144.3
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/zZn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
Masa elementu [kg] 151.1
dla 4 szt. [kg] 66844
| |
ST ELEMENT ST2B 2|B |
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
1 2 | Bl 10x140-250 0.035 S235 2.75 55
25 | 1 |RK 120x120x6 7.030 S355 142.90 142.9
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/Zn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |[Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
Masa elementu [kg] 149.7
dla 12I szt. [kg] ]]IYEIBM
ST ELEMENT ST2C éC |
2 4 |BI 3x60-130 0.008 S235 0.18 0.7
1 2 | Bl 10x140-250 0.035 S235 2.75 55
26 | 1 |RK 120x120x6 7.069 S355 143.70 143.7
102 | 4 |Podkladka 17 Fe/Zn wg PN PN-78/M-82005
101 | 4 [Nakretka M16-8-B-Fe/zZn wg PN 0.03 0.1 PN-86/M-82144
103 | 4 |Sruba M16x60-8.8-B-Fe/Zn wg PN 0.13 0.5 PN-85/M-82101
Masa elementu [kg] 150.5
dla 4 szt. [kg] 66200
| | |

| | |
Masa razeml[Ki39 17139




